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NEWSTEAD	WOOD	MOCK	-	

SAMPLE	QUESTIONS	

Please	read	each	ques-on	carefully	and	then	use	your	answer	sheet	to	mark	the	answer	you	

think	is	correct.	Select	your	answer	by	pu;ng	a	line	through	the	answer	box.	

DO	NOT	write	on	this	ques-on	paper.		

All	answers	should	be	marked	on	your	answer	sheet	and	all	working	should	be	completed	on	

rough	working	paper.	

YOU	HAVE	5	MINUTES	TO	COMPLETE	THESE	QUESTIONS.	

The following sample has been produced by Kin Learning tutors to provide an example of our 

Newstead-style mocks. This paper is not in any way affiliated with Newstead Wood School.  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1. Which	word	would	come	fourth	if	the	words	were	spelt	backwards	and	then	put	in	

alphabeHcal	order.	

A. DRAINING	

B. DRIFTING	

C. EATING	

D. LAMINATING	

E. LAMENTING	

2. Which	word	below	would	go	well	with	both	pairs	of	words	in	brackets:	

	 (dozen,	pair)	(scratch,	scrape).	

A. TRIPLET	

B. SCORE	

C. MARK	

D. CUT	

E. GROUP	

3. John	is	10	years	younger	than	Frank	and	1	year	younger	than	Nathan.	Their	three	ages	add	up	

to	74.	How	old	is	Frank?	

A. 31	

B. 21	

C. 25	

D. 11	

E. 35	

4. Calvin	is	18	years	older	than	Ralph	who	is	20	years	younger	than	Tommy.	If	Tommy	is	30	years	

old,	how	old	is	Calvin?	

A. 18	

B. 38	

C. 48	

D. 28	

E. 26	

5. TZ	is	to	VW	as	EN	is	to:	

A. GK	

B. XY	

C. MP	

D. FL	

E. GY	
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6. If	the	code	for	JUNCTION	is	MQQYWERJ,	what	is	the	code	for	COIN?	

A. FRLQ	

B. YREN	

C. FKLJ 	

D. YKEJ 	

E. WERJ 	

7. If	the	code	for	BLISTER	is	YEIQOSZ	and	the	code	for	CRAFTY	is	JZTBOA,	what	is	the	code	

for	LATEST?	

A. EQOFTO	

B. TSOQEO	

C. ETOSQO	

D. TOZQOZ	

E. EYOEQO	

Use	the	following	codes	to	answer	quesSons	8	and	9.		

The	codes	for	BORED,	EDGES,	GREED	and	ROBES	are	wri`en	below	but	one	word	is	missing	

a	code.	

	 70446					 		39046			 				46748	

8. Which	word	is	missing	a	code?	

A. BORED	

B. EDGES	

C. GREED	

D. ROBES	

E. We	do	not	know.	

9. The	word	SOBER	is	wri`en	using	the	same	code.	Which	of	the	following	is	the	code	for	

this	word?	

A. 90467	

B. 89364	

C. 69307	

D. 07634	

E. 89340	

10. Which	of	the	following	words	is	most	opposite	in	meaning	to	HUMILITY?	

A. HUMBLE	

B. LOUD	

C. PROUD	

D. BOASTFUL	

E. PRIDE  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NEWSTEAD	WOOD	MOCK	-	SAMPLE	ANSWERS	AND	EXPLANATIONS	

1. B	

2. B	-	Score	can	mean	“twenty”	and	can	also	mean	“to	cut	or	scratch	a	line	on	a	

surface”.	

3. A	-	John	is	21,	Nathan	is	22	and	Frank	is	31.		

4. D	-	Calvin	must	be	2	years	younger	than	Tommy	(20	minus	18).	Therefore,	if	Tommy	

is	30,	Calvin	is	28.		

5. A	-	T	to	V	is	forwards	2	le`ers.	Forwards	2	le`ers	from	E	gives	G.	Z	to	W	is	backwards	

3	le`ers.	Backwards	3	le`ers	from	N	is	K.	Therefore,	answer	is	GK.		

6. A	-	Count	forwards	3,	backwards	4,	forwards	3,	etc.	from	each	le`er	in	COIN.	

7. C	-	Using	the	codes	provided,	L	=	E,	A	=	T,	T	=	O,	E	=	S,	S	=	Q	and	T	=	O.	Unlike	

quesHon	6,	do	not	count	on	from	individual	le`ers.		

8. D	-	GREED	=	70446,	BORED	=	39046,	EDGES	=	46748.	

9. E	-	as	above.	

10. E	-	HUMILITY	is	an	abstract	noun.	BOASTFUL	is	incorrect	as	it	is	an	adjecHve,	

therefore	PRIDE	is	the	correct	answer	(also	an	abstract	noun).		

Visit	www.kinlearning.com	for	Newstead	Wood	mock	tests,	holiday	courses	and	advice.	
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